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No. of Questions : 180
Uyt i WEAT : 180

Time : 2 Hours Full Marks : 450
qHT : 2 qUg quTis : 450
Instructions :
fader

This paper consists of Objective Type Questions and is divided into

Two Sections (I & II} as under.

9% S9T-UH Fglashedta g9+ 9% eneniid ¥ dew & @oer (1w 1)

i favwer B, Sran 5 e affa @

(a) Section -I: consists of 120 Objective Type Questions on General
Awareness, Mental Ability, comprehension and subject
Awareness in some major subjects.
gue- 1: H 120 Sgfasedid U9s am= 4, AHids G
aur Hy eI faudl & &9, 91 eeia ¥

(b} Section - II : consists of 30 Objective Type Questions on (I)
English Language and (II) Hindi Language.
og- I - § 30 agfasedia U (1) IS «|mr ofiw (1) fe=<h

qET B S IT ATENT 8 |

A candidate is required to attempt as many questions as he/
she can of Section- I, and Questions on ANY ONE of the TWO
Language papers (I} English OR (II) Hindi in Section - II.
et & amferg B 5 @vs - 1991 @ve - 11 % (1) SUST a
(1) &= s s # | FREl OF 9T & U9l @ B e |

3 P.T.O,
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Note : (1) Each question céﬁiﬁaa.ﬁ,i'i!hree} marks. One mark will be
deducted for each incorrect answer. Zero mark will be awarded

for each unattempted question.

e 99 S(Eﬁﬁ)aﬁﬁaﬁr%lﬂﬁ?ﬁ?waﬁ?%%{rw
3feF reT FAEIT] TAH AT 999 | ATE Y 2N

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.
qél IaT 2|

(3) Each question is followed by Four alternative answer (1}, (2), (3]
and (4). One of these answers is correct. Select the correct and
record 1t against the relevant question in the ANSWER-SHEET
by darkening the circle with Ball Point Pen as per guidelines.
e U9 B AT Jehieush IwT R T € T (1), (2), (3) d
(4) dEAT @ a9t T B | T U HFA UF I & wE 2 | wel
SeAY iAo IHE dhd Hl Sl -diEen § deaE geq &
HAA FEAET 3t gad (TEIg) F R @Eee U9 80 e
Fih TS |




01.

02.

03.

' 18U/113/15(i)
SECTION -
s - |

The creator of 'Sherlock Holmes' was ?
(1] Shakespeare (2] Dr. Watson
(3) lan Fleming (4) Arthur Conan Dovle
ITElTeh BIW & T=al i & 7
(1) 9l (2] ZTe dfedy
(3) A HIfH (4) HARUC FH S

The Aravalli hills are located in -

(1] Madhya Pradesh (2] Rajasthan
(3) Assam (4) Jharkhand
WG Jers Fel g & 7

(1} W& geel § (2) TR
(3 ITEH o (4) #@EUE §

Suez Canal joins :

(1] Red sea and Arabian sea

(2) Red sea and Mediterranean sea

(3) Arabian sea and Mediterranean sea
(4) North sea and Baltic sea

(1) e €N Ug 37" qHTT

(2) T EFE U9 Y9 HFY

(3} STXI AP U9 YHEH HFTT

(4] Il AN UG diiedd N

S P.T.O.
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04.

05.

06.

Which kind of power accounts for the largest share of power generation
in India ?
(1) Hydro-electric Power (2) Thermal Power

(3) Nuclear Power (4] Solar Encrgy

Wﬁﬁwwﬁzmﬁaﬁﬁzﬁmﬁﬁﬂm%?

(1) Stefergd Fol (2) arfig FEl

(3) GRATY] Sl (4) @I Foa

Who was the President of the Constituent Assembly of Independent
India ?

(1) Dr. Bhim Rao Ambedkar (2) Dr. Rajendra Prasad

(3) C. Rajagopalachari (4) K.M. Munshi

e RE @ GRIeT @l el STEHe i U1 ¢
(1) =fo W T FA=EHT 2) =fo &= OdE
(3) Hio TEEIARTE (4) .0, A

Which among the following products is not usually exporied from
India ?

(1}  Pulses (2) Sugar

(3) Rice (4) Wheat

=9 § FF AT 3G ARG 9 "qEEda: HaAia @i e omen @7

(1) =&@ed (2) Al
3} = (4) g
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07. Who among the following headed the 7" Central Pay Commission of

)8.

3,

India ?

(1] Ratin Roy (2) Meena Aggrawal

(3) Vivek Rae (4) A.K. Mathur

=1 7 4 83 9Rd & aad 39 A= # siemeEr & o 2
(1) e (2) HFT e

(3) [Ea% 1y (4) U.H.ART

Which country has recently declared to impose a 'carbon tax' from
2019 to cut its greenhouse gas emissions ?

(1) India (2) Singapore
(3) Malaysia (4) Japan

e 391 ¥ 19+ e 141 % I F B9 F P gite F B
& " 2019" FEA FC A FH Ao A T ?
(1] 9qrad (2) ﬁ:‘T”El,T

(3] FIfeTT (4) S

Which committee has been constituted by the Reserve Bank of India
(RBI) to look into bank frauds ?

(1) Y.H.Malegam Comimittee
(2} A.K. Misra Committee
(3] Nandkumar Saravade Committee

(4) S. Raman Committee

a d 9% arr 3% dranaSt & sita & e B affy @
24 fRar T E 7

(1) aEoUdo HIEH wfMf (2) Todo fiysr afify

(3) eI HYae dfHfa (4) THo THT @bl

7 P.T.O.
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10.

11.

12,

Which state has become the India's first state to opt ow! of the National

Health Protection Scheme’ :

(1) Karnataka (2] Punjab

(3) West Bengal (4) Kerala

F-FT T ARG B T 5 & e @ A U s goe
Ao afem A ¢

(1) e (2) U=

(3) afg= & (4) B

Which state 1s to have India's first artificial mueliigence centre ?
(1} Andhra Pradesh (2) Maharastra

(3) Kerala (4}  Tamil Nadu

o &l Teal HiEA ghenan @ e e | e g
(1) oTFel Jaer (2) HEIW
(3) A (4) afgar g

An thin iron needle floats on the surface of water due o
(1} upthrust of water (2) surface tension

(3} wviscosity (4) gravitational force
TR I U ool gs I N Ade T PRA & A el 27
(1} O &% 3IecAEd & ol (2) Y% GFE F OO

(3)  9ATTCT & IO (4) YHEEERUOTE g F 0T



13.

14.

15.
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The Gandhi Sagar Dam is built on which river in Madhya Pradesh ?
(11 Narmada (2) Chambal

(3) Son (4) Tapti

AE4 Se9T F fbw T4 we el arr gy ffdg 27
(1) +THar (2) ==
(3) 9= (4) et

Who has been sworn-in as the new Prime Minister of Nepal ?
(1) Sushil Koirala (2) Sher Bahadur Deuba

(3] K.P. Sharma Oli (4)  Khil Raj Regmi

%ﬁ%muﬁﬂaﬂ%ﬁ%mﬁﬁmﬁmﬂaﬁ?

(1] A I (2) 9T Fergy T
(3) odlo el 30 (4) Taer w1 Yy

5
The population of a city is 9000, o part of which are males and

remaining females. 40% of males are married. What is the percentage
of married females ?

mamﬁmﬂwgooaémgww%aﬂtﬁqﬁ%ﬁﬁ

g1 geul H 40% faaifed &1 afeens?t @ ufdem @47 & 2
(1) 40% (2) 45%
(3] 50% (4) 55%

9 P.T.O.
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16.

17.

18.

In a class of 50 students, 35 like Physics, 30 like Mathﬁmaltics and 3
like none of the subject. How many student like only physics ?

=0 Wt @ U ®er H 35 A qEE # B, 30 AV HE
S e 3 Al # @ B faug e aEf e ¥ Py v B Tiad
(1) 17 (2) 18
(3) 15 (4} 16

How many meaningful English words can be made with the help of
the letters 1XP using each letter only once in cach word ?

(1) One (2) Two
(3) Three (4) Nonc

ore IXP A AT 18T} A Stdsht & fa srefyel eiss o @ohct € A2

eI oTY @ 9t H Uep & A HArT RA S
(1) TF (2) a
(3) o (4) g A

N ’
The average speed of a bus1s 27 umes the average speed of a tractor,

The tractor covers 532 kms. in19 hours. How much distance will the
bus covers in 13 hours ?

(1) 1286 kms. (2) 1274 kms
(3) 1260 kms (4) 1256 kms

o &) o TR o R A S TR A A5 T B e

10 qux 532 frfio a9 @%en B a9 12 ° 7S 7 FRoHl g3 99 e ¢
(1) 1286 [&FHTo (2) 1274 f&Hio
(3) 1260 o (4) 1256 f&Hio

10



19. Sohan consistantly runs 515 metres every day.

20.

21.

22,

18U/113/15(i)

. In how many davs
will he run 8 24 kms. ? " “

qie ufefes 515 diex drear 1 ey By & 98 8.24 feptio 2y ¢
(1) 24 (2) 18
3] 16 (4) 14

A number series is given with one term missing. The missing number
15.

T 2oft § o ug Tmg T A TEg g7 S

2815741 o7
(1) 12 (2) 13
(3) 14 (4) 15

What is the least number that can be added to the number 1020 to
make 1l a perfect square ?

mgoa%g;niaﬁaﬂﬁ%%qwﬁﬁ:r—zﬂwﬁmaﬂﬁaﬁﬁ
e |

(1) 4 (2) 12

(3) 59 (4) 65

In English alphabet series which letter is the seventh to the right of
the thirteenth letter from left ?

ST JOTHIEAT & el & 67 § a/F § Pr-ar 8T, 135 o &
I OXF 9iad e 97 g 7

(1) S (2] T

(3) U (4) V

11 P.T.O.
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23.

24,

25.

The position of how many digits will remaing unchanged if the digits in

aumber 3564798 are rearranged in ascending order from left to right ?
(1) None (2] One

(3] Two (4) Three
zr&:@aaem%%ﬁﬁaﬂﬁrﬁi STOET HE H eFIET A"
a1 Braa oiehl @ e erdfafda @ 7

(1) i T (2) ©H
(3) (4) i

P is daughter of R. R is the father of T. T is the husband of 5. 5 Is the
mother of Q. W is mother of T. How is T related to P ?

(1) Son-in-law (2) Brother
(3] Sister (4) Husband

F'Rﬁﬁl%lR,TﬂﬂﬁﬁT%l‘T‘,SﬂIﬁﬁ?ﬁS,Qﬁwlﬁiw.

o w21 T, P A R YsR wEiad ¥ o7
(1) &M (2] 93
(3) @A (4) dfa

1
In a school, 10% of number of boys 15 Er}i’ number of girls and 10% of

| ; :
number of girls is 35 of number of boys. What Is the ratio of number

of boys and girls ?

o FEery § @oa S & &1 10%, asfRal St | @

| —

et @7 GEET T 10%, TEHi i HEAl @

wefrat 9 de s ST FE 7
(1) 2:1 (2) 3:1
(3] 43 (4) o2

12
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26. The sum of three consecutive even numbers is 50 more than the

27.

28.

dilference between first and third number. What will be the ratin of

sum of first and second numbers to third number ?

#HWWW@W@WWH&TW‘&W%GW@
50 it B | weell 3T qEdl demeti & A @ G den & g

(1) 4:5 (2) 17:18
(3) 17:10 (4] 7:4

[f A is substituted by 2, B by 4, C by 6, D by 8 and so on, then what
will be the total of the numerical values of the letters of the word
REIFY ?

(1) 63 (2) 71

3) 73 (4) None

qﬁﬁﬁzfﬁ@w%,aﬁ4%@am%,cﬁﬁ%@7w%
AT DF 8 frar smar ¥ ol afX ond o 3 m9 wrh vy AT
& dl 9% REIFY % 318 &7 17 @97 8n 7

(1} 63 (2) 71
(3] 73 (4) HIE L

What will come in place of question mark (?) in the following series ?
JC, KD, LE, NG, OH, (?)

(1) QJ (2) OH

(3) Pl (4) RK

13 {30 e f
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29,

30.

Fereiifa sper § neAtae (1) W e 4Y AT S
JC, KD, LE, NG, OH, (?)
1) QJ ) OH

(3) P (4] RK

Ram is elder than Shyam, Radhaswami is younger than Shyvam. If

Wilson is elder than Shyam, than who is youngest in all ?

{1} Ram (2) Shyam
ES} Hadhﬁswami {4] Wilson

7, gam & ael B, T, gy @ Brer B, aft e, oA |
aeT B, @ FaEd B A T

(1) ™ (2) 99™
(3) rereErdt (4) faeEs

Fill missing number in the blank spaces.

et STel 9T g aier i WA

1,0, ,8,15,24

———— .

14



31.

32.

33.

18U/113/15(i)

If the sum of two numbers is 15 and the sum of reciprocals is 3/10:

Lhe numbers will be -

A AT FEmt &1 Anr 15 ¥ qen A @ AT T A1 3/10 2 &
qerd e i |

(1) 4,11 2} 69

(3) 87 (4) 10-5

Five students are sitting in a queue. Manoj is in the right of Praveen.
Premprakash is in the left of Sontosh, Shailesh is in the middle of

Premprakash and Manoj. Then who is in the left of all ?
{1} Praveen (2) Manoj

(3] Premprakash (4) Santosh

T BT U S3E A A2 B ) weet, 94 & arf ofw, 99 et wan
%aﬁaﬂ?am@rﬁm,ﬁnwwaﬁnﬁm%ﬁah%,mwﬁ
T T BT Jo7 T 7

(1) Y& (2) HA
(3) T HeRIT (4) o

In a coding language, PALAM is written as 43, then SAVITACRUZ
should be written as :

@Wﬁmmmﬁﬂﬁﬁ@w%ﬁamﬂﬁawﬁ
SAVITACRUZ & fer@m =3

(1) 124 (2) 125
i3 126 (4) 140

15 P.T.O.
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34. Find the missing number in the given geries

35.

36.

37.

100, 91,83, —— 70

ﬁﬂ%%ﬂﬁﬁﬂﬂeﬁﬁﬂwmt

100, 91, 83, 70
(1) 72 (2) 75
(3) 76 (4) 77

If CBE means BAD, then GMBH will mean :

af> CBE @7 a1l BAD © dl GMBH & a1e] BN
(1) FLAG (2) FLOY
(3) FOOD (4) GOOD

If 5x4=15, 6x5=24, 7%8 is 49, then what will be the value of 8x4 2

gt 5x4=15, 6x5=24, 7x8 is 40 BI, AT 8x4 & HHA I 2N ?
(1) 24 (2) 28
(3) 32 (4) 36

The smallest number when divided by 20,25,35 and 40 leaves the
ernainder 14,19,29 and 34 respectively ? The smallest number is :

o B9 4 8Id den @ B e 20,25,35 947 40 9 faarra fapar
S A sHen 14,19,29 @7 34 A BFT 7

(1) 1664 (2) 1406

(3) 1404 (4] 1394

16



38.

39.

40,

41.

18U/113/15(i)

Six bells commence ringing together and subscquently rings are at
an interval UILZ,‘l,b,H,IU and 12 seconds respectively. In 30 minutes,
how many time will they ring together ?

S "f-CAT UF AT I URY $Y fhT HE9T 2,4.6.8.10 9T 19
A & AR U ot 1 30 faee & 3 ot ar o apr ade 7
(1} 4 (2) 10
(3) 15 4] 16

Which of the following numeral pair is different from other ?
Frfafad dearres gl § ae-ar e | R o7

(1) 83-75 (2) 58-50

(3) 49-52 (4) 25-17

Which number would replace mark () in the series 7,12,19,(+),39?

ot 7,12,19,(-) , 39, & Bt dEmr e () @1 e anf 7
(1 29 (2) 28
(3) 26 (4) 24

What percent of 1 day is 36 minutes ?

o B9 & 36 fo9e S-9r ufgeE & 7
(1) 25% (2) 2.5%
(3) 3.6% (4) 0.25%

17 P.T.O.
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42.

43.

44.

In an examination 36% marks are needed to pass. A student gets 145

marks and fails by 35 marks. The maximum marks are :

we e § 36% 31 F enavaEa Ial el & [ o1 ok feremedl
£ 145 37 O A ¥ ol g 35w & argeref 81 ST & | el
& arfeeras i €

(1) 400 (2) 450

(3) 500 (4) 600

Carbohydrate is stored in both liver and muscle as :
(1) Glucose (2) Starch

(3] Glycogen (4)  Sucrose

e W A Ud HienRwE # e wa # dfad e o 2 7

(1) T (2) @ISl
(3) TerEHISI (4) 9l

Animals having capacity of body temperature mamtenance arc .
(1) Aquatic (2) Cold-blooded

(3) Warm-blooded (4) All of these

orfiT & ATTET A S @l aHdl ard ST 8 8
(1) SierET (2) ofide dEadgaa

(3) TH TR (4) IULrERT "W

18



45.

46.

47.

48.

18U/113/15(i)

Which of the following micro organism is used as biofertilizer ?

(1}  Cyanobacteria (2) Protozoa

(3) Virus (4) Nematodes
Fr=fafad § & @19 & gonhdt 37 59w & =7 § gam a3 3 2
(1) "E=r St (2)  drErsre

(3) fersrog (4) SHEEY

Which one among the following is not a cash crop ?

(1) Tobacco (2) Cotton

(3) Soyabean (4) Rubber
Mg § @ $H-91 U% wiehe Sae 981 2 7

(1) T=T (2) =HarH

(3) HETE (4) @Y

Which one of the following is not a greenhouse gas ?

(1} Methane (2] Nitrous oxide
(3) Chlorofluoro carbon (4) Hydrogen
Frfafad # fF-d 09 e g 78 2 7

(1) wter (2) FrEEE TS
(3) AR I FIEA (4) BIESeH

Of the following which one pollutes the air of a big city ?
(1) Copper (2) Chromium

(3) Lead (4) Calcium

19 P.T.O,
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49.

50.

ﬁmﬁf@ﬁﬁﬁﬁﬂa@mﬁﬁaﬁzﬁngﬁmm%?

(1) AT (2) SR

(3) dran (4) ieaaH

The 'Red Data Book' keeps a record of all the °

(ij endemic species (i) extinct species

(iii} endangered plants (ivl endangered animals
(1) 1&ii (2) il & iii

(3] 1ii & iv 4) 1&1wv

g sl g P & fEeeer ol §

(i) wemfee gSTiear & (i) gy ostiEar
(iii) AT qrerf @l (iv) TSI ooy
(1) i&ii (2) i & iii

(3) 1 1v (4) 18

The amount of water recommended by the United Nations for drinking

washing, cooking and maintaining proper hygienc per person per
day is a minimum of :

(1) 5 litres (2) 15 litres

(3) 30 htres (4) 50 litres

Hged g &1 1, a1, @A S99 0 geditad Wesar @ g |
qfer afea ofafes =g fhas o @ dxgfa @ R 2

(1) 5deY (2) 15@TEX

(3) 30&fEx (4) 50 &feY

20
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S1. What do black buck, elephant, python and golden cat together
represent in a forest ?

(1) fauna (2) ecosystem
(3) flora (4) species

BT J, TR, AR, MeSd de BT X a7 ¥ Fpgep gfatafas
w7

(1) s+g 9ge (2) IRRefEFR o=
(3) T (4) FoR

52. On which of the following day is 'World Water Day' observed ?
(1) 22" March (2) 14" November
(3) 2" October (4) 21" December
e & 3 g R9 & Rsg o Raw & =9 & g9/ s & 2
(1) 22 == (2) 14 Fgv=Y
(3) 2 FHFET 4) 21 Ru=w

53. Which of the following is the main function of kidney ?
(1) Passive absorption (2) Ultrafiltration
(3] Selective reabsorption (4] Both 2 and 3

Fr=fefaa § gap @1 Bi9-a1 & & 7
(1) ffepg stiwer (Vg weeler)

(2) YTrEHT
(3) =AM g:emoT
(4) 2ud 3 &=t

21 P.T.O.
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54. The most imporiant function of heamoglobin 1s :

55.

56.

(1) Its red color
(2) Presence of iron
(3) To combine reversibly with oxygen

(4) Presence of basic protein globin

St o qad "eeeel HE dE-ar © 7

(1) I &l 2

(2) @Te @l ITAT

(3) 3T TR & A1 IehpH HASE $ AT
(4) H&T T T4l @l 39

Which of the following decreases during aerobic exercise ?
(1) Mean blood pressure (2) Circulating blood volume

(3) Cerebral blood flow (4) Skin temperature

sifeRiiepd e se § frafaiad 5 W FE gear ¢
(1) 3TEd =

(2) Hafa vad SH{rHaH

(3) Afas=r 7o "as

(4) ©=ET 1 AM9GHA

James D. Watson and Francis Crick are associated with the discovery
of :
(1) Vaccine (2)  Structure of DNA

(3] Anti-malerial drugs (4) Penicilline

S 21, aTea ao we e @ v it § 9 g @
qae?

(1) =TT (2) DNA i H¥E1

(3) weifear fames sfmfe (4) ufafaei=

22
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S7. What is the role of anti-oxidants in human system ?

58.

59.

(1} They promote vitamin synthesis.

(2) They prevent excessive oxidation of carbohydrates, protein and
fat.

(3) They protect cells against the effects of free-radicals,

(4)  They activate certain genes which delay the aging process

qHg = F 9id-STeRiemst &1 #ef o= &7

(1) Je Fefa G999 7 9o & |

(2) IT FEICEZL, TEH TAT T6T B STARE SMRIFT F) T3
e

(3) a8 Yol HeAHl & 99 F IR F1 =y §

(4) FE R aiEHar A W BT 3 A st @ Aty wey ¥

Which of the following chemicals is/are used for the sedimentation
of impurities in water ?

{1} Alum (2) Urea
(3) Sederite (4) All of the above

1T o1 STgfREAt B T Be § o HA H R Frewfias B v
1 ST o & 7

(1) weH (2) it

(3) HSZE (4) IUEFT gl
Hemophilia is a :

{1} Deficiency discase (2) Harmonal disease
(3) Fungal infection (4) Genetic diseasc

23 P.T.O.
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(1) =goar Sie A (2) e St e
(3) THADIE THAT (4) aTqaiterEs AN

60. Hepatitis is :
(1} Inflamation of lung tissues
(2) Inflamation of liever due due to viral infection
(3] Inflamation of brain memabrane
(4) Bacterial disease causing choking of throat

2qfeersfeq ® -

(1) HHH FHeeh o G

(2) arETE GHAT H BIOT T 5 For

(3) witaes # fredl # oI

P R e B L n ol e

61. The branch of science which deals with tumors is calied as ?
(1} Serology {2}  Oncology
(3) Chromology (4)  Urnlogy

Fret &1 et oil diis (ZEEE) AT I BT e, el @
(1) Fw (2)  etrIeref
(3) ZPIGT | (4) gt

62. Which one of the following is not a deficiency disease ?
(1) Simple goitre (2) Night blindness

(3) Colour blindness (4) Beri-Beri
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fereafefeaa & @ SA-ar =rwar anfy |96 & ?
(1) = g (2) <eteft
(3)  aorfera (4] aL-=rd

Which of the following is a protein deficiency disease ?
(1} Cirrhosis (2} Night blindness

(3) Eczema (4) Kwashiorkor
frer § g & A G & FH d B g0

(1) f&artgd (2) <Al

(3) aiersTHI (4) gaifsEaRET

Jaundice may be caused by retarded funcition of :
(1) Lungs (2) Kidneys

(3] Heart (4) Liver
Tiferan = & fopm &1 & de9 & &I 2er 8 7
(1) ®HT (2) g¥h
(3) &4 (4) AP

Trans fat is generally considered to be bad for human health because

it lowers the level of :
(1) HDL () EDL

(3) Triglycerides (4) Insulin
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T T & R zia Aar diHEad: elfnrd, ansl A e ERIE?

g8 ¢ &9 Hal €

(1} HDL = (2) LDL =T
(3) TEFEEUES w (4) R @l
66. The vitamin which contains cobalt is :
(1) B, (2) B,
(3) B, (4} B,
ey frad wlaree &
(1) (2) i,
(3) =, (4) 1,
67. In surgery, what is arthroplasty ?
(1) Open heart surgery (2) Kidney transplant
(3) Hip-joint replacement (4) Blood transfusion

oeg e H el & .
(1) B=F @l Goil STedian (2) FFR TERIYY
(3) Fwer - Se @ ufqwms  (4) TR ST

68. What percentage of World's population lives in India ?

fasa s demr & fhaa aftea & aa 7 Fae w9 B 7
(1] 12.5% (2} 17.5%
(3) 20% (4) 25.5%
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According to 2011 census, the most populous city of India is

(1) Bengaluru (2) Kolkata

(3) Delhi (4) Mumbai

2011 S¥RIYIET @& AJA Halltes SEEr aren w8 & -
(1) FIS (2) eI

(3) feeedt (4) 9%

Which of the following statement (s) about Uttar Pradesh is are correct ?
(ij  UP has the highest rural population
{iij UP has the highest scheduled caste population
(iiij UP has the highest scheduled tribe population
Select the correct answer from the following options
(1) iand ii only (2) 1and i only
(3) 1 and iii only (4) 1,1 and i
Frfafad § & I gae & @ # 9 91 A9 9 § 7
() waifes anfer s Soo # e et @
(i) waifees erggfa Sfa @ s=Eedr Jofo # femd wh 2
(iii) TEiER STEfE ST & SHE Jo Vo H Farg &t 8
Frfafaa faeedl d 4 @dl 3av =@afa ik

(1) i a7 ii Hhaw (2) 1S il Hae
(3) i ST iii AT (4) i ,ii ST i
Continent with highest population after Asia is :

(1} Europe (2} Africa

(3) North America (4) Australia
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ufsTar @ dam aarfEd STTAE i nardil oo

(1) 3 (2)  3Hshlehl
(3] Il AHTIE (4) T

2. The office of the Registrar General and Census Commissioner conducts
the census 0 India. [t s under which minisi v/ body ?

(1) [MOSPI] Ministry of Statistics and Plan lmplementation
(2)  Ministry of Home Affairs
(3)  Prime Minister Office

(4) Planning Cominissian

o R SeeE 3T T AP FORPIEP T
e F A B 98 [ wEwr Mad Foadid o amm g o

(1) @it wd ST A A

(2) 98 HACH

(3)  ward WA HIUEY

(4) =AM

3. Which of the following state is the largest producer of Rubber 2

(1} Kerala (2] karnataka

(3)  Tamil Nadu (4} Andhra Pradesh
fyefaifad & & $F =aifas 789 gearss asg 2 v
(1) =hia (2] @iceh

(3) afferErg (47 I EY

4. Which of the following pair is incorrect ?
(1]  Khetri - copper (2) Mica-Hazaribagh
(3) Panna - lignite (4] Kolar - Gold
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(i &
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TeAtEES § A Ao gy e ¥

(1) == - afan (2)  HAFF-TALEM

(3)  9T-ferige (4) AT

Insulin is requiied lor the conversion of

(1) Glycogen to Glucose (2] Glucose to Glycogen
(3} Amino acids to Protein (4)  Protein to Amino acids

R @areel & R s=gfers sasas 3 7
(1) TSRS & TIeprat (2) THIST A TNGFIFAT
(3; PfFT ufgs | Odm (4) P | apfEr ofge

Which acid imparts sour taste to curd ?
{1} Acetic acid (2] Lactic acid

(3}  Sulphuric acid (4) Formaldehyde

g8l Hl HIF-GI 3T WA TaAT FoAr B 7

(1) ufaies ufge (2) AfFEE ofigs
(3) werfeh ufgs (4) BRAAEEIZE

Which hormone rnpens the tiuits ?

(1) Ethylene 2]  Gibberelline
(3] Cytokinin 4] Auxin

HIF AT BHIA Bl H GEldr & ?

(1) ZATE (2) FErfer

(3] AEEEAA (4) S
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78.

79,

80.

31.

Which planets do not have moons ?

(1) Mars & Venus (2) Mercury & Venus
(3) Jupiter & Mars (4) Mercury & Mars
(1) Wl a«n >k (2) F& aAT Ab

(3) Fewafa qoar HJ (4) F& TqA HA

Who was the first woman to reach space ?
(1) Kalpana Chawala (2) Sunita William

(3) Valentina Tereshkova (4) Bacchendri Pal

ST afea Hduen sedier § ager At ?

(1) @egAr = (2) grien fAferTa
(3) Afefear 2x=prar (4) =@l g

Which planet has the most volcanoes ?

(1) Venus (2) Jupiter
(3) Mars (4) Moon
g Ue g wed i saemgEl § 7

(1) oIH (2) gEEd
(3] HIA (4) ==

What is the orbital period of Moon ?
(1) 27.3 days (2) 24.3 days
(3) 30 days (4) 28 days
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AT F Hafg srafey o7 B 7
(1) 27.3R+ (2) 24.3 faq
(3) 30T (4) 28fa=

Where is the 'Edge of Space’ located ?
(1) 80 kms. above the sea level

{2) 90 kms. above the sea level

{3) 100 kms. above the sea level

(4) 110 kms. above the sea level
‘FHaie @ R wel fem & 7
(1) ¥g% oo 9 80 [FoHlo FHUT

(2) |g% a9 & 90 [Fotflo FHuw

(3) HH=m ael | 100 FhoHio FHux
(4) 99= 9 9 110 fhodio Tux

[n human beings perspination oceurs when body temperature is warm

and :
(1) Precipitation is low (2) Precipitation is high

(3) Humidity is high (4) Humidity is low

Ageat ® G Mebeldl & 99 oY &1 a9y TRH BT ¥ qen
(1) a9 %9 & (2) auf e1fers 2

(3) ot sfuw B (4) STEAT T B
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84. Process by which water vapors are relcased in air by leaves ol plants
w5 called ¢

(1) Respiration (2] Precipitation

(31 Evaporation (4) Transpiration

e gt Forerd Ov ufeerdt ET ofe @11 R ATgHEA H SRTAT T
A opaal &

1 ZgHA (2) @i
(3] A0 (4)  3AdET

85, [ilth layer of earth’'s atmosphere 155

(1} Exosphere (2) Mesvsphere
i3) Thermosphere (4] Tropousphere
qedi % argESe @i Gl 9 el ¥

(1) aftded (2) HATSH

(3] AEHS (4) er9gHZl

86 Places located near sca experiences the
(1} Cooler Summers 2] Warner Springs

(3) Warmer Winters (4) Both [ and 3

ME 4 [eRE fedd T 9T En §

T (2) TH gHd
(3) M INE (4) FUUET | AT 3 A
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87. Which date is called as 'Vernal Equinox' ?

88.

89.

(1) March 21 (2} February 20
(3) Aprl 17 (4} May &

Fre # ar-= fafar ‘ada faga’ seard & 7

(1) ==t 21 2) wEd 20
(3) offer 17 (4) =2 8

Fossil fuels are obtained from :

{1} remains of non-living materials
(2} dead remains of birds only

(3} dead remains of insects only

(4) dead remains of living organisms

Stened o wT< R S @
(1) Fofta awget & sw@ami 4

(2) T AREREN B gE Eemi A
(3) e FIEI B T FAFI A
(4) otat & ga eFasm i

Which one of the following statements is (rue about the Biosph

Reserve' ?

{1) 1tis a protected area where only endemic specics five

(2) It is meant only for the conservation of plants ani ammals

(3) It is meant to conserve both- the biodiversity and the culture of
that area.

(4) . There are no other protected area within its limits.
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Which of the following pair is not a correct match ?

(1) Rajasthan - Marble (2) Gujarat — Granite
(3) Assam — Petroleum (4) Jharkhand — Coal
Frefafaa el § & @1 98 g™ 3« 78 8 7

(1) TSI - HIOHHT (2) IO - IARE
(3) FEH - UFiferaH (4) FREYS - HrIe
Which 'Varna' did ‘Matang' belong to ?

(1) Brahmana (2) Shudra

(3) Kshatriya (4} Vaishya

‘g’ e ‘ger @ TR @ o 7

(1) HEHT (2 U=

(3] &f=Hg (4) 999

'Hathigumpha Cave' inscription is associated with :

(1) Ashok (2) Chandragupta I
(3) Harshavardhana (4) Kharvela
‘BIfphT T T T T

(1) HMH (2) TETA =

(3) EdadH (4) @RI

The founder of 'Wahabi Movement' in India was :

(1} Abdul Wahab (2) Jawaharmal

(3] Syed Ahmad (4) Shah Walhullah
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0.

1.

refEe famveer F weed § FraatEd § 8 Bi-En Al 3
& 7

(1) g T& " & o2l #a e s wedn 2l

() TE Agd Dl vEn FE B A F fad gge eldi

(3) = S g vag 39 @9 F dRa B JEd e @ I

=

(4) ZHF GET B el g AW &= AE emr B

Which of the following is not obtained from coal ?

(1] coke (2) coal tar

(3) coal gas (4) CNG
Freaforfiaa & =9 O el o 20 g @i v
(1) =Y (2) TSR

(3) AT and (4) H.Oq.50.

The place meant for conservation of biodiversity in their natural habitat

aro .

(i)  Zoological garden (iij Botanical garden
(i) Wildlife sanctuary (ivj National park

(1) i&ii (2) i & iii

(3} il & iv (4) i&iv

urepferes ard | 51 fafgaar wr @3fea $ S AU =@ 2 @
(i) wrfor SEme (FEfEamEy) (ii) FEEAE 3UE

(i) @ S ST9EReg (iv) TET FEA
(1) i&i (2) i &iii
(3) il & iv ) i&iv
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96.

97.

98.

fpe o § wifers HienTe PR A ggHEd i vEd B AT 7

(1) 3fega geld (2) STEBYH
(3) TEg EnE (4)  9E FEiSers

Where the dead body of Mumtaz Mahal, queen of emperor Shahjahan,

was buried first ?
(1) Daulatabad (2] Agra
(3] Hyderabad {4) Burhanpur

ATENE YMEHEN Hl I YHATS HEwl & aiidd 9diT w1 0w
TEd SHE™r & T 7

(1) Zrerdrers (2) FTT
() BETERE (4) Frergz

How many ‘Samsakaras’ are there in the Hindu religion ?

ferg o H FRa ‘deeR B € 7
(1) 16 (2) 15
(3) 14 (4) 13

Where was the first 'Buddhist Council' held ?

(1} Patna (2] Vaishali
(3]  Rajgriha (4) Kashmir
Y dim G @ oA Al g wl
‘1) TesT (2) 9Tl
(3] B (4) I
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Write the name of the dynasty under whose reign the Khajuraho
temples were built ?

(1) Chauhan (2) Parmar
(3) Gurjar (4) Chandel

I USHEST 1 AT AR e e e § e w5fEw e G
gafl o ? ‘

(1) AreT (2) Y9HIY

(3) IO (4) <@

Which country lbn-Batuta came from ?

(Il Syria (2} Moracco

(3] Jordan (4) Sudan
ged-agdr fhd 391 9 3= ar ?

(1) difear (2] HEE

(3) it (4) g

Name the author of the book Vikramankadevacharita' :
(1) Kalhana (2) Bilhana

(3) Vishakhdatta (4) Varahmihir
TR dHia’ i & @ Hl A gy

(1) =FEsY (2) Faegor

(3) fEsmEeEs (4) amefie

Who contained Sanyasi Revolt is Bengal ?

(1) Lord Mcaulay (2) Warren Hasting
{3} Lord Rippon (4) William Bentinck
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gme § geardt fage @ e e ?

(1) @re fepret o (2) ane BRET T

(3) @e s | (4) PR afss 3
103.Which country influenced the Gandhara arts ?

(1) Iran (2) Greece

(3] Rome (4) Greece and Rome

FEE 29T &l UG G FHAT 9T & 7

(1) & (2) Fr

3} T (4) T ST A1H
104.Which modern city is identified with Polibothra ?

(1) Patna (2) Vaishali

(3) Rajgir (4) Varanasi

feper amegfres oreX &1 usar diferdisr | @l Skl g 7

(1) 9e=T (2) A9l

(3) TR (4) areoTE

105. Who established 'India league’ in 1875 ;
(1) Sisir Kumar Ghose (2) Anand Mohan Bose

(3) Surendra Nath Banerjee (4) Justice M.G. Ranade

1875 § ‘2f2ar sfrr &t w@maAr s @t 7
(1) fafsre A 99 (2) AT Aled a9 3
(3) gr= Ay gt q (4) =rEfd g5 TR J
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106.The first Satyagraha experiment of Gandhi jec in 1917 was at -

(1) Ahmadabad (2} Champaran

(3] Kheda (4)  Chaurichaura

g9 1917 ® medt St e wow gemms ghm o

(1) STeEHsEE H (2) = H
(3) Tr=1 H (4) AR

107.Who said that the Aryans came to India from the North pole ?

108.

(1) Lala Lajpat Rai (2) Bal Gangadhar Tilak
(3) Max Muller (4) R.C. Majumdar
fraa @er f6 od I o I ga |/ o o ¢

(1) e aredd 0F (2) =T T e
(3) HeF HeX (4] 3A7.@1. WaHATE

The first highest civilian award of India 'Bharat Ratna' was given to
(1) Dr. Bhagwan Das

(2) C. Rajgopalachari

(3) C.V. Raman

(4) Dr. S. Radhakrishnan

WA B Tared ANE G TR o1 999 usd eI e
(1) =t. sEE =g H®

(2) @t ToTaEErd &l

(3) d@rdr. e @

(4) 7. TH. TLEHEH H
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109.

110.

Which was the first country to invade India In ancient period :

(1} Iran (2) Grecce

(3} <China (1)  Great Britam

mﬁﬁﬁzﬁﬁxﬁﬂWﬁwanﬁﬁaéwﬁWm?

(1] 27+ (2) ZF=
(3) A (4) e faed

Which of the following 'Samskaras' was perlormed before the birth of
the child ?

i1} Samavartana (2] Upanayana

(3] Pumsavana (4] Chudakarma

Fpeififae 4 f-a1 SRR ged & 59§ gd @ [T S
°qr 7 |

(1) HHTEA (2) 3914

(2)  gEad (4) TSR
111.Commanwealth games, 2018 will be held at :

(1) Glossgow, Scotland (2) Gold Coast, Australia

(3)  Auckland, Newzealand (4) Hamiltan, Canada

AR N, 2018 MG Bl ARA

(1) g, @hieeves H (2) Tes FE, wAREferEn §

112,

(3) ceTEReITE =gsiicve # (4) Bffices, @=reT o

From which country did Megasthanese come to India ?
(1) Egypt (2) Syria
(3) Rome (4) Greecce
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ATt foey 91 § AR SR e v
(1) ™= (2) difEn

(3) <H (4) =T

113.Stupa is associated to which religion ?
(1) Jainism (2) Hinduism
(3] Persian (4) Buddhism

(qy bl T R a4 q E 7

(1) S et (2) Toeg o
(3) TrTHlEs (4) &g ud

114.'Swaythling Cup’ 1s given for :
(1) Table Tennis (Men) (2) Table Tennis (Women|
(3) Golf (4) Badminaton

afeT w9 B ST e

(1) e 299 (999) (2) ofaa 2@ (I59)
(3) N (4) d=fEeT

115. Fahien came to India during the reign of which king ?
(1) Chandragupta Il (2) Kumargupta
(3) Ashok (4) Chandragupta Maurya

A fRE TS B ATEd b WA SR A ?

(1) F=ga & (2) HAEATCL
(3) 319T (4) TS HE

41 P.T.O.



18U/113/15(i)

116. Name the author of 'Meghadootam” :
(1)  Tulshidas (2! Banabhatta

(3 Kalidas (4) Bhasa

WA’ A A A AR
(1) gErEEd (2) arTHEE

(3] EAITGIES (4) w1

117. Prayaga Prashasti’ throws light on the victories of which king ?
(1j Chandragupta | (2)  Samudragnipea

(3} Kumargupta (4} Skandagupta
gt were’ A e T ok EAEl 97 OeReT 9gdr g 7
(1) ==y g2 (2) TR

3) FHT P (4} TSI

118. Mothers' Absolute Altection (MAA) programme is meant for promoting
(1}  Hyvgiene & Sanitatian (2] Breast [eeding

(3] National Unity (4]  Gender justice

AT UgEIgFe ABFE (TH.O.0.) TN bl 3F8F B
(1] SEFE gay Eesdar & grd Bl

(2 A T AT AT

(3) IIETH TRl I U @Al

) ARER ST D O e
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119.Who led the first ‘Arab invasion’ on India 2
(1)  Mohammad Bin Qasim (2)  Subuktgin
(3]  Mohammad Gori (4) Babur

AT ¥ UH SRE SARHYT & Ag™ feas R e v

(1) HEewe fos it (2) IS
(3) HigwE M (4} =ET
120.Who wrotc Privadarshika ?
(1) Rajyavardhan (2) Banabhaua
(3) King Bhoj (4) Harshavardhan

forgeforrr e e =m ?

(1) a9+ (2) &ToTHZE
(3)  Lafl (4) B
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SECTION - II

gug - 1l
Language - English
[For the candidates opting English Language]

Note : Four alternatives are given as possible answers to each question.
Give the correct choice as an answer.

Direction (Q.No. 121-124) : Sclecet the word nearest in meaning to
the given word :

121, Industrious

(1) Hardworking (2) Factory

(3] Workers (4] Crowd
122. Lethargic

(1} Lethal (2) Dangerous

(3] Energetic (4) Lazy
123.Melancholy

(1] Melody (2) Sadness

(3) Song (4) Music
124. Tyrannical

(1) Dictatorial (2] Bold

{3} Brave (4) Charming

Direction (Q.No. 125-128) : Select the word opposite in meaning to
the given word ;

125. Predator
(1} Before (2] Ancient
(3] Prey (4) Teacher
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126.811’113}:

(1} Strange

(3]  Softly
127.5ubtle

(1} Soft

(3) Stubble
128.Discord

(1) Dispute

(3) Debate

Direction (Q.No. 129-132)
idiomatic ¢xpressions :

129.Once and for all
(1} Rarely
(3) Finally

130.With flying colours

(1)
(3)

triumphantly
deliriously

131. Brownie point
(1)
(3)

Demerits

Praise

132.A grey area
(1)
(2)
(3)
(4)

(2)
(4)

(2)
(4)

18U/113/15(i)

Generous
Sternly

Obvious
Rough

Discussion

Harmony

1 Select the correct meaning of the given

(2)
(4)

(2)
(4)

Something that 1s easy
Something that is difficult to define
Something that is interesting
Something that i1s funny

45

Usually
Often

happily
fast

Disadvantage
Dispute
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Direction (Q.No. 133-136) : Select the right word to fill in the blanks

in the given sentences @

133.Coach Kiran tned o «..oovvivenianonas. his team (o try harder in the face
of overwhelming odds.
i1} Exhort (2] Call
3y Ask (4) Plead
134.The professor became so forceful, so ................ in his expression of
opinions, that students began to leave his course.
{1} Angry (2) Violent
(3} Abusive (4)  Dogmalic
135.The Jury ..coocevevnnnn the mayor of all wrongdoing.
(1) Exoncrated (2) Excommunicated
(3] Executed (4) Encouraged
136.The women basketball team's perfect scason ................. in a
championship win over the men's team.
(1} Culminated (2) Climaxed
13)  Conguered (4] Success

Direction (Q.No. 137-140) : Choose he carrect option to form the
rigcht sentences :

137.1 always keep .............. word,
(1} Her (2) My
i3) His (4) Their
138 s wants to go swimming at the beach when the weather is
nice.
(l} Someone (2]  No one
(3] Anyone (4) Everyone
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239, v o she signs these papers, she will get the loan.
(1} Unless (2) Therefore
(3] Sao (4) If
140.A ... of cattle was grazing.
(1) Herd (2] Team
(3) Crowd (4) Packel

Direction (Q.No. 141-144): Sclect the part of speech of the underlined
word in the given sentences :

141. Remember to drive safely.
(1] Noun (2)  Adjective
(3]  Adverb (4) WVerb

142. Don't talk like that.
(1)  Adverb (2} Verb
(3]  Adjective (4] Noun

143. We have pens, pencils, notebooks and markers.
(1} Preposition (2] Verb
(3]  Adjective (4} Conjunction

144.This is a pretty vase.
(1) Adjective (2) Noun
(3) Adverb (4} Intensifier

Direction (Q.No. 145-147) : Fill in the blanks with the correct

preposition :
145.We had ameal .................. a restaurant
(1) 1in (2] at
(3) under (4] above
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146.S0 the McDonald brothers thought ............. .. a way Lo produce
hamburgers more quickly,
(1) of (2) at
(3} in (4) as
147.McDonalds is also known ................ its sponsorship In various
international sport events :
(1] About (2) In
(3) On (4) For
Direction (Q.No. 148-150) : Sclect the word which has been correctly
spelt : '
148.(1] recard (2) annay
(3) surrander (4] accord
149.(1) salacious (2} gracios
(3] chivalrous (4) delicious
150.(1) anonymous (2}  sumptuious
(3) solemm (4) sommnabalist
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SECTION - II
gus- 11
"r - fe=dl
[fe=lt wmar &1 == W g orwREy B g

AT Wl g el & AR-ER aEeTs 3 e ) i ad)
30T A Q% o | 39 WEl I @ g |

151. ‘U9 @haehl &1 wEEU (HEE = F 7

(1) Farge et (2) IFEAT FeH9] (HE
(3) 9T 3feetl @i @) forg g e faer fe=

152, fe=<l Afee & Ui el & [0 smam g 21 @ aw

s
(1) =TT FlA (2) ARITAT FIT
(3) A< 1T (4] diFEET He

153. g1 A @ fe=dl aifeey & afeaer &1 w=ame 98 & 7

(1) 9HME= aH (2) TEETEE
(3) IR (4) TREEATY
154, gftcapl & 9179 = Fe B 7
(1) HeaT=™ (2) THSTER
(3) "eeTHT= (4) Framestan
155, ‘G¥eqr & B &1 gsen wfa e w7 v
(1) =R SPET (2) TETEIT aE fed
(3) S FrgEs (4) TEA HigeETa
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156. 78 & 19 oNfE@mE & @ T8 & 7
(1) SFeed T (2) TEHEd

-,

(3) =i Tl (4) geEfiRTS T

157. 3% @ #9 A sTUSEA e & oA=nia Tel 8 7
(1) o= (2) AHEE
(3) HaET (4) Yars

158. =i § @ widH B AN TE B 7
(1) fEerd (2) F=TEH
(3) UTHTAEETE (4) -EETE

159. == & F-& @ Afdd gewe oEn St qé 2 7
(1) 9gHEd (2) sTfErdt e
(3) STERET (4) wmae

160. 29 & @9 FEET Wi # Bia 8 7
(1) feasiEs (2) e
(3) FHEIT (4) THE

161. ‘TH=EHr fpa &g & @ g 7
(1) gerdiard (2) BT

(3) HATHIETH (4) g=HH
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162. 9RAg eRYT= fhg TR & Frarf 9 7
(1) 9= (2) HI9TET
(3) scilel€s (4) T A

163. HBEY U9E fEadt fag oy & dues o ?

(1) wrgdt (2) g
(3) 2=t udig (4) el

164. 79 & DH-8 = Aol 90T T A AE B 2
(1) fog gara (2) JEaFd
(3) @R (4) STEEer gy

165. 378 q HI-G1 el Jq=e & T8 T ?
(1) 99 9¥H9aY (2) B =Hrent
(3) =TT F B (4) FHEH P T

166. ‘U & AT & Al By Sar B ?
(1) steuid (2) aTET
(3) =Eam (4) SIS

167. S99 O Her 9= |1 & 7

(1) goa=ir (2) g
(3) gafE (4) oI
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168, Bl deen & 25 A% qot Y AF X AAG A ©

(1) @oioTa=dl (2) B T

(3) ToTersTEl (4) G
169. ‘Fffaur @1 o1 g

(1) StEs @ o (2) SHE & 37d

(3) StE H1 TH (4) = & 3|

170. ‘@’ @1 e #
(1) AEd (2) B
(3) g7 (4) =
171, & o gl & B A o= e
(1) H4rh VIRGEUERS
(3) feamt (4) it

172. Fr=tfafeaa & & #F-91 @weg 9oy & qufgar & & 7
(1) ST (2) =9

(3) & (4) ag=n

173. 3997 &1 9909 erar B
(1) 9T= & " H (2) 9T & AT H

(3) 9= & HeA H (4) 9w ol ofg o) A
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1?4.3?113@(%@3@*&?%@37@6#%?
(1) epet (2) TFar
(3) "4 (4) af-

ITS.WﬁWWﬁWﬁWW%?
(1) Jermr (2) 3ATETTERLTT
(3) ufafas (4) FATH

176. 399 H H9-T1 ac@yq 9=

(1) g (2) TR
(3) Tg (4) erEE

177. ‘€% &1 =g 8’ @1 el § -
(1) ¥Bq g B (2) T8 o= ey
(3) FET Rl aw Rard 3 (4) sroe i amy

178. ‘Al F 9T @k =7 oref B
(1) @ @ (2) FE=T ST
(3) &r@r BT T A (4) Pt 8

179. 379 8 [E =% HA-|7 B ?
(1) wHafa=h (2) =
(3) =R (4) FHazt
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180, = q ‘BY B gHEH HA A 7
(1) TTELHT THE (2) T
(3) T wTE =gadt (4) =S
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